Day 2 Maths Starter

1 r u e or F a ‘ S e ? Improper fractions to mixed numbers




False
27 thirds will make 9 wholes.
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Day 2 Maths: Finding fractions of an amount
Video Link: https://vimeo.com/480708541

Findinq Fractions of Amounts

Use this hElp sheet if you get stuck @ To find the fraction of an amount you
need to divide your number by the
Slide 4 is aimed at 1 star. denominator, then multiply your answer

by the numerator.

Slide 5 has the answers to 1 star.

Slide 6 is aimed at 2 star. 2 72
Slide 7 has the answers to 2 star. — of
Even if you are attempting 2 star, it might 8 ‘/ =

be a good idea to attempt a few questions =

numerator.

12 x 2 = 24
2 of 72 is therefore 24!
6



https://vimeo.com/480708541

Fractions of an amount

| b} 140 litres
o 20 s : N
P 7
a) Shade % of the bar model. @
- c) £1,800
.1 L
b) What is ¢ of 207 i 0 % of £1,800 =
?
o Use your times tables knowledge to solve the colculations.
1 1 1 990 7
a) +of 12 o) +of 35 m e) -= of 60 d) : f@}
3 5 12 r ~ 3
1 1 1 ﬁ of 990 =
b) I-nffzﬂl d) ﬁofﬂﬂr_m f) ?ufﬁtlkg

Mow use your answers to solve these calculations.

2 3 11
= of 12 Zof35 m = of 60
) 3 < 3 ©) 12 o a) In a school of 480 pupils, 2 are juniors.
b) %of £30 d) %ﬂf &0 erm f % of 84 kg How many juniors are in the school?
b} A factery makes 256 cors.
% are electric cars.
How many electric cars does the factory moke?
o Complete the calculations. 3 i . o
c) Brett uses 3 of his £180 savings to buy a train ticket.
a) 200 How much of his savings does he have left?
I
r A §~ of 200 =
5
L. : J
!
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Fractions of an amount

al Shode ;—af thee bar madel.

b} What is T of 202 | I

Use your tirmes ables knowwledge to solve the coloulotions.

1 = l -
a} 7 of 12 L d} == of 80 <m

8 em

1 1
b) yof £20=| L5 &) zof0=| 5

ﬂ%nllﬂm- - - ﬂ%nlﬂdtg-

e

Mawr use yowr answeers o saleve these colculotions.

2 = l =
a) £ of 12 3 d} —=of80em=| St
3 1

e) Llotenm 55

b) Sof £20=| £|5 15

g dotasma|ai., fl Sofaskg- 72k

ﬂ Caloulate the missing values.
200

al

b | LW | uo uo

Zpf20b=| |20

L A

[Tl ] 8

:E1.IH-I:I}

1w % af 14D litres =

-

EROO

¥ % af £1,800 =

“-El‘hiﬂq'lﬂ B w0 qﬁlq{?iﬂ‘m

<70

o 2 .
17 af 950
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Fractions of an amount

140 lit
T =' il

Alex has 288 m of fence to paint.

She paints 13—2 of the whole fence on Monday. She then paints %{}f
what is left on Tuesday.
How much fence does she have left to point?

Fill in the missing numbers.

an$5m=515u :]42=%uf?m

% o

L] L]

B) ——of 100kg=75kg  d) 450 === of 3,000

a) In a school of 480 pupils, %nre juniers.

How many juniors are in the school?
o Find the values of o and b
b) A factory makes 256 cars.
3 e electri 480
g are electric cars. I

-

How many electric cars does the factory make?

€) Brett uses %uf his £180 savings to buy a train ticket.

How much of his savings does he have left?




o a) In a school of 480 pupils, -g— are juniors.
How many juniors are in the school?

o Fill in the missing numbers.

of 700

3|

a) == of $500 = $150 ) 42 =

320

b) A foctory mokes 256 cars.

3 are electric cars.

8
How many electric cars does the factory maoke?

b) Enfiﬂﬂkg:?Skg d}45n=nf3_mn

4 20

96

5 o Find the values of a and b
€} Brett uses T of his £180 savings to buy o train ticket.

Howr much of his savings does he have left?

ElO8

R

Alex has 2BE m of fence to paint.

She paints % of the whole fence on Monday. She then paints % of

what is left on Tuesday.
Howe much fence does she have left to paint?

a=|8tl 5=| 912

(0%




-‘ r u e or F o ‘ S e ? Fraction of an amound

I 2

S of £80 is equal to 5 of £160



Fraction of an amount

False

£80 |
A — =
: . = of £80 = €16
£16 | £16 | £16 | £I6 | £16 ,
Z of £160 = £64
fl6o0  5°
A
a A\

£32 £32 £32 £32 £32
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